1O ¥ATIND

Ly

oL Beg

~
W,

4

IRl " Fiek o

lsays suqsziodsiu

3 eL 07692 2% 65 769 98 V6L 0Lt 00229 818 6v% PRoSPo
0 09¢ 2¢ 125 582 0€9 222 256 €99 256 €99 920 012 S8y 05T € emotejidey ejel
[} S60 £€ 95¢€ 001 Wy 218 $56 9¢8 ¥v9 052 v viL 922 2LZ €9£ 085 € 10633z (o1++2+L) WIZV Y
. BiIaspo -
emozidey ejes - :0b9) 2
t74 12 oL
MIBSPO -
emojepdey el - :0bay 2|
4z ) e
DIBSPO -
emofeyidey ejel - .0be) Z|
4z ) 8|
DiJespo -
emojeldey ejel - :0bs) z|
[¢24 ¥ L
gel zZiee [Re] =3 1929 LTASA osv 8 009t 826 G biiespo -
ogeze b0 L6 8reze 8Vt ¢€ 8re ce 8re e vii ot 0/8v.iC emotendey eje - 1066} 7]
G660 €e 9GE 001 60G /& glo8e 12/l 6 828 O viL02 86801 (7 00°26% £2¢) Kpay g
9z0¢€ 908 £ 0e9 0L gecel 006 £ 85¢cy bespo -
€Cr GLL 966 1EL 0. L8 Y0L L8 Faic R34 6£Z 925 emojeyidey ejel - 1058) 2|
6vy 8L Coe BEL YEE 86 6€6 001 28218 9£8 896 Z 00°L5€ 682) ¥Pant 'S
osi L gl6¢ 8E6 G £EB L 0or ¥ Y92 €2 pRaspo -
Q0Z Ly 82C 29 00C Ly 00¢ v 0 828 G81L emojeydey ejel - :0be} Z
08€ Zv L1 99 8€L LY €€0 6¢ ooy ¥ 260 602 (Z 00°000 21%) ¥pall ¥
[<4 24 60¢L 16€8L 18l ¥Z 00s €L 185 ¢L ppaspo -
056 LLL 867 981 00/ /gL 002 /€L 0 8y €29 emofejidey ejel - ‘0bo) 2|
(215741 G6G 861 260 951 188 LSL QoS el S0 80L {tz 00°000 ZZ€ 1) pany €|
LEL ¥ reiL vse 8L S9¥ 6T 00E 71 [ 492 piespo -
000 ¢9l 000 59l 000 oL 000 Gl 0 000 099 emogendey ejet - :069) z|
LEL 691 vz oll ¥Ge €8l Sy 06l 00E 1 ey €L (Z00'000 001 1) ¥Rpani ¢
o006 000 81 000 92 000 Ie 000 8L 000 zoL pRaspo -
000 002 000 002 000 002 000 002 000 051 000 056 emoeydey eiel - 0B} 2
000 80T ooosle 000 9¢T 000 1£2 000 891 0002s0 L (1z 00°000 GGG 2) SREBUGO 1]
yL £1 ZL i3 oL B 8 L 9 S £ Z [
1202 19202 15202 19202 1 £20Z 12202 11202 1 0202 16102 4810z 22102 1910z Amﬂmmw%m% Amsosmo.wms m._Nm_mm.m wwhm,“,o«_smbs
¥RRP B ellezbioqoz w_:uuvv.‘_ﬂoonmw ou%:wﬂowN
. (19102 BOMIBZO 0g YaIzp BU AUENpER uejs)

L Jujiuzobez

ejuezs|o Aunub smosueuy eluezeimoqoz -~




